

:	3
الشعبة :	3 :

(6) :

(0,5)..... (1) $3 = 0$

(1,5)..... (2) $0 = [(+ 7) - 5 - 2](3 -)$

(0,5)..... (3) $4 + 3 = \Delta$

(1)..... $3 + 1 = 2$ $2 + 1 - = 1$

ج ا هـ

2 1 - 1

(1).....(2 3) هـ $2 + 3 = (2 2 + 1 - 0) \frac{1}{2} =$

ن ا ن - 2 ن 2 + 2 ج 2 = 6 \Leftrightarrow ن هـ 4 = 2

(1,5)..... 2 هـ

(14) :

(1) $2 - -^{1+\infty} \frac{1}{2} \circ 2 = ()$

(0,5).....] $\infty + , \infty -$ [= ف :

(0,5)+(0,5)..... : نها تا (س) $\infty + =$ نها تا (س) $\infty + =$

(0,5)..... : $1 -^{1+\infty} \frac{1}{2} \circ = ()'$

(0,5)..... ()'

(0,5)..... :

$\infty +$	2 -	$\infty -$	
	+ 0	-	()'
$\infty +$	2	$\infty +$	()

: ()

(0,5)..... نها تا (س) $2 - - = . 0 = [2 + + ()]$

:	3
الشعبة :	3 :

- (0,5)..... (') . $\infty+ = \frac{\text{نها (س)}}{\text{س}} \leftarrow \infty$
- (2)..... () (3)
- . + - = () (4)
- (1)+ (1)..... 2 - < 2 - \geq
- (0,5)..... 1^- [2 - ∞ - [(5)
- (0,5).....] $\infty + 2$: 1^-
- (0,5)..... 1^-
- .()
- (1)..... $(\lambda) (1-\Pi) = 2 \int_0^\lambda \frac{1}{2} \circ^{1+\frac{1}{2}} = 4 \circ^{1+\frac{1}{2}} - 4 \circ^{1+\frac{1}{2}}$ (2)
- (1,5)..... $\frac{1}{2} \circ = \circ 4 = 0$ () ()
- (1)..... $\frac{1}{2} \circ - 1 = \frac{1}{2} \circ - 1$ ()
- (1)..... $\frac{1}{4} \circ^{1+\frac{1}{2}} \times (4 \circ)^{1+\frac{1}{2}} = \frac{1}{4} \circ^{1+\frac{1}{2}}$ ()

